
EE 201 —  HW 1.10    Name__________________________________________

In the circuit shown, it is 
known that the current source 
IS1 is generating 37.5 W of 
power and source IS2 is 
generating 75 W. (Note that 
both are generating — neither 
is absorbing power.)  Calculate 
the voltage across each resistor 
and the corresponding power 
dissipation for each. 
 

vR1 = ______________________________ ; PR1 = ______________________________ 
 

vR2 = ______________________________ ; PR2 = ______________________________ 

vR3 = ______________________________ ; PR3 = ______________________________

vR4 = ______________________________ ; PR4 = ______________________________

vR5 = ______________________________ ; PR5 = ______________________________
 

Write your answers — and whatever work will fit — on this sheet.  Staple any sheets with additional work behind.
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